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Q.1 Wireless networks are divide into _______ categories.

(a) 3
(b) 4
(c) 5
(d) 2
Q.2 _______ is the standard for wireless LAN’s.

(a) IEEE 802.3

(b) IEEE 802.5

(c) IEEE 802.11

(d) IEEE 802.10

Q.3 Multiplexing is needed at ______ layer.

(a) Physical

(b) Transport

(c) Network

(d) Application

Q.4 Modulators / Demodulators are used at:

(a) Network Layer

(b) Transport Layer

(c) Physical Layer

(d) Data Link Layer

Q.5 The type of transmission with one sender and one receiver

        Is known as _______.

(a) Multicasting

(b) Unicasting

(c) Broadcasting

(d) None of the above

Q.6 Which of the following is not a network:

(a) PAN

(b) LAN

(c) MAN

(d) WAN

(e) None of the above

Q.7 Cable television network is an example of:

(a) LAN

(b) MAN

(c) WAN

(d) PAN

Q.8 Satellite networks are inherently:

(a) Peer to Peer

(b) Broadcast

(c) Point to Point

(d) Multicast

Q.9 Example for Layer 3 protocol is:

(a) IP

(b) TCP

(c) UDP

(d) FTP

Q.10 SCTP is found in:

(a) Layer 4

(b) Layer 7

(c) Layer 5

(d) Layer 2

Q.11 TCP/IP model contains :

(a) 4 Layers

(b) 5 Layers

(c) 4-5 Layers

(d) None of these

Q.12 Ethernet uses:

(a) Bus Topology

(b) Star Topology

(c) Bus / Star Topology

(d) Ring Topology

Q.13 Twisted Pair cable is most common for:

(a) Analog signals

(b) Digital signals

(c) Digital and Analog signals

(d) None.

Q.14 ______ is very strong function of frequency.

(a) Sampling

(b) Attenuation

(c) Attention

(d) Modulation

Q.15 For long distance transmission of analog signals _____ are needed

         Every few kms:

(a) Repeaters

(b) Routers

(c) Amplifiers

(d) Bridges

Q.16 Principal used behind optical fiber is:

(a) Total Internal Reflection

(b) Total Internal Refraction

(c) Interference

(d) Diffraction

Q.17 Parts of optical fiber are:

(a) Core

(b) Cladding

(c) Jacket

(d) All

Q.18 LT function stands for:

(a) Line Termination

(b) Loop Termination

(c) Local Termination

(d) More than one option

Q.19 How many layers does ISDN architecture contains:

(a) 4

(b) 5

(c) 6

(d) 7

Q.20 Each U interface frame is ______ bits long.

(a) 128

(b) 240

(c) 256

(d) 512

Q.21 Synchronization is attained in ISDN architecture by:

(a) Session Control

(b) Network

(c) Data Link Layer

(d) Layer 5

Q.22 The part of optical fiber which protect against outer atmosphere effect is:

(a) Core

(b) Cladding

(c) Jacket

(d) All

Q.23 LT function and ET function communicate via:

(a) S interface

(b) T interface

(c) V interface

(d) R interface

Q.24 Satellites used for telecommunication are placed in _____ orbits.

(a) Polar

(b) Geostationary

(c) Medium Earth Orbit

(d) Lower Earth Orbit

Q.25 DNS stands for:

(a) Domain network Security

(b) Domain Name System

(c) Direct network security

(d) None

Q.26 Extended Passive mode was added in:

(a) Sept, 1998

(b) Oct, 1998

(c) Nov, 1998

(d) Dec, 1998

Q.27 WWW requires only ______ links.

(a) Unidirectional

(b) Omni directional

(c) Bidirectional

(d) None

Q.28 World Wide Web is also known as :

(a) WWW

(b) W3

(c) Web

(d) All

Q.29 Gopher is a/an:

(a) Browser

(b) Protocol

(c) Plug-in

(d) Search Engine

Q.30 Internet Explorer for _______ still supports Gopher.

(a) Windows

(b) DOS

(c) Mac

(d) Linux

Q.31 Veronica is accessed through any ______ client.

(a) Gopher

(b) Mail

(c) FTP

(d) Telnet

Q.32 E-Mail stands for:

(a) Electrical Mail

(b) Electronic Mail

(c) Elevator Mail

(d) None of these

Q.33 How many computers are involved in an FTP transfer:

(a) one

(b) two

(c) three

(d) four

Q.34 FTP servers by default listen on:

(a) Port 21

(b) Port 80

(c) Port 100

(d) None of these

Q.35 CSMA/CD is ________ in OSI model.

(a) Layer 2

(b) Layer 3

(c) Layer 7

(d) Layer 1

Q.36 Class D networks have their leading four-bits set to:

(a) 1-1-1-1

(b) 1-1-1-0

(c) 0-1-1-1

(d) 0-0-1-1

Q.37 CIDR was introduced in ______.

(a) 1993

(b) 1994

(c) 1995

(d) 1996

Q.38 Path vector routing is used for ______ routing.

(a) intra domain

(b) inter domain

(c) domain

(d) none

Q.39 Variation in delay of packets is known as :

(a) Congestion

(b) Isochronicity

(c) Jitter

(d) Latency

Q.40 Packet switched networks such as ______

         Circuit switched network such as _______

(a) internet , intranet

(b) internet , voice telephone network

(c) intranet , voice telephone network

(d) none
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Q.41 Bullman – Ford algorithm is used by :

(a) Link-state algorithm

(b) Path-vector protocol

(c) Distance-vector algorithm

(d) None

Q.42 Fill in the blanks:

(1) Non-Persistent CSMA is ______

(2) 1- Persistent CSMA is ________

(3) P-Persistent CSMA is _________

(a) selfish, less greedy, slotted approx.

(b) less greedy, selfish, slotted approx.

(c) selfish, less greedy, slotted approx.

(d) none of these

Q.43 The protocol which neither provides error recovery, nor

         Flow control is :

(a) TCP

(b) IP

(c) UDP

(d) FTP

Q.44 Out of these device/s packets may lost in:

(a) Routers

(b) Switches

(c) Bridges

(d) All of the above

Q.45 UDP stands for:

(a) User Datagram Protocol

(b) Universal Datagram Protocol

(c) Unreliable Datagram Protocol

(d) All of the above

Q.46 Ports 1 through 1023 are named as :

(a) Well-known ports

(b) Well-deserved ports

(c) Known-ports

(d) None of these

Q.47 The electronics in the satellite that converts uplink signal to a 

         Downlink signal is called _______

(a) Sampling

(b) Transponder

(c) Attenuation

(d) None

Q.48 The first two Syncom satellites achieved an orbit that was _____ but not

          _______ .

(a) Geosynchronous and Geostationary

(b) Geostationary and Geosynchronous

(c) Polar and Geosynchronous

(d) Geostationary and Polar

Q.49 In Passive Mode, the FTP servers opens random port :

(a) >1023

(b) =1023

(c) <1023

(d) none of these

Q.50 Types of e-commerce:


(1) G2C
(2) B2C
(3) P2P
(4) C2C

(a) only 2,4

(b) all of the above

(c) only 1

(d) none of the above

Q.51 Broadcast networks have:

(a) single communication channel

(b) multiple communication channel

(c) can be anyone

(d) can be both

Q.52 Systems supporting transmission to a subset of users is:

(a) Broadcasting

(b) Unicasting

(c) Multicasting

(d) None

Q.53 Smaller networks tend to use ______ whereas

         Larger networks use ________;

(a) point to point and broadcasting

(b) broadcasting and point to point

(c) unicasting and multicasting

(d) peer to peer and multicasting

Q.54 The collection of communication lines and router is called :

(a) communication subnet

(b) wan

(c) man

(d) none   


Q.55 Host Bus Adapters are used in _________ 

(a) LAN

(b) SAN

(c) WAN

(d) MAN

Q.56 PAN’s involve Bluetooth and ______

(a) IEEE 802.15.4

(b) IEEE 802.11

(c) IEEE 802.3

(d) FIDDI

Q.57 Signals at lower frequencies are ______ and at

         Higher frequencies are _______ .

(a) bidirection , unidirectional

(b) omnidirectional , focused

(c) focused , omnidirectional

(d) none

Q.58 State which of the categories applications have been important 

         For optical fibre :

(a) Long Haul Trunks

(b) Metropolitan Trunks

(c) Subscriber Loops

(d) All of the above

(e) None

Q.59 H channels provide a way to integrate ______ channel.

(a) B

(b) B / D

(c) D

(d) None

Q.60 How many configurations are there for wireless transmission:

(a)2

(b)3

(c)4

(d)5
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Q.61 Computer networks can be used to:


(1)To provide interaction between a person and remote database.

(2)To have alternative sources of supply.

(3)To provide peer to peer systems.

(4)All of the above.

(a) only 4

(b) only 1

(c) only 2,3

(d) only 1,3

Q.62 Match the following:


(1) Physical layer
(a) Layer at which bridges and switches operate. 


(2) Session layer
(b) Consist of TCP.


(3) Network layer
(c) Establishment & termination of a connection to a 





      Communication medium. 


(4) Transport layer
(d) It accompalishes buffering and deadlock handling.


(5) Data Link layer
(e) Looks for synchronization.


(a) 1-d, 2-a, 3-b, 4-c, 5-e

(b) 1-c, 2-e, 3-d, 4-b, 5-a

(c) 1-c, 2-e, 3-b, 4-d, 5-a

(d) none of these.

Q.63 State whether True / False:


(1) FDM is used in analog communication.


(2) WDM helps data flow at the speed of few Mbps, not more than that.


(3) TDM is protocol sensitive.


(4) TDM is more efficient than FDM.


(a) 1-t, 2-f, 3-f, 4-t


(b) 1-f, 2-f, 3-f, 4-f


(c) 1-t, 2-t, 3-f, 4-t


(d) 1-t, 2-t, 3-t, 4-t

Q.64 Match the following:

        FREQUENCIES

       NAME




 (1) 2 ghz – 40 ghz

(a) electromagnetic spectrum


 (2) 30 mhz – 1 ghz 

(b) infrared


 (3) 3*1011 hz – 2*1014 hz
(c) microwave


 (4) 3 khz – 300 ghz

(d) radio

(a) 1-c, 2-d, 3-b, 4-a

(b) 1-c, 2-d, 3-a, 4-b 


(c) 1-d, 2-a, 3-b, 4-c

(d) 1-a, 2-c, 3-b, 4-d

Q.65 State whether True / False:

 
(1) Attenuation is low for optical fiber than coaxial cable.


(2) For guided the transmission capacity depends on data rate.


(3) Twisting doesn’t reduces crosstalk.


(4) The optical fiber can conduct light even when bended. 

(a) 1-t, 2-f, 3-t, 4-t  


(b) 1-f, 2-f, 3-f, 4-f


(c) 1-t, 2-t, 3-f, 4-t


(d) 1-t, 2-t, 3-t, 4-f 

Q.66 Match the following:

(1) BRI
(a) 23B – D channels


(2) H11
(b) 23B channels


(3) PRI

(c) 2B – D channels


(4) H0 

(d) 24B channels


(a) 1-d, 2-b, 3-c, 4-a


(b) 1-c, 2-d, 3-a, 4-b


(c) 1-d, 2-c, 3-b, 4-a


(d) 1-a, 2-b, 3-c, 4-d

Q.67 State the incorrect one:


(1) Single GEO can see about 40% of earth’s surface.


(2) In vacuum electromagnetic energy travels faster than speed of light.


(3) SATCOM is used for domestic services like local television.


(4) MEO satellites require much larger handoffs than LEO satellites.

(a) only 2

(b) only 2,4

(c) only 1,2,3

(d) none of the above.

Q.68 State True or False :


(1) Virtually every computer platform supports the FTP protocol.


(2) Computers connected to TCP / IP based n/w can manipulate

                  Files on another computer regardless of operating system.


(3) FTP servers by default listen of port 80


(4) FTP runs exclusively over IP.


(a) 1-f, 2-f, 3-t, 4-f


(b) 1-t, 2-t, 3-t, 4-f


(c) 1-t, 2-f, 3-f, 4-t


(d) 1-t, 2-t, 3-f, 4-f

Q.69 One client with an IP of 192.168.0.1 listening on port 1025 will send :


(a) command “PORT 192,168,0,1,4,0”


(b) command “PORT 192,168,0,4,1,0”


(c) command “PORT 192,168,0,4,4,1”


(d) none of these.

Q.70 Match the following :


(1) GOPHER

(a) Steven Foster


(2) WWW

(b) Phil Zimmermann


(3) VERONICA
(c) Tim Berners Lee


(4) PGP

(d) Mark McCahill


(a) 1-a, 2-d, 3-c, 4-b


(b) 1-d, 2-c, 3-a, 4-b


(c) 1-a, 2-c, 3-b, 4-d


(d) 1-c, 2-a, 3-b, 4-d

Q.71 Match the following: (More than one options possible.)


(1) GOPHER

(a) Browser


(2) VERONICA
(b) Protocol


(3) FTP

(c) Search Engine


(4) MOSAIC           
(d) Plug-in


(a) 1-b, 2-c, 3-b, 4-a


(b) 1-c, 2-,b 3-b, 4-d


(c) 1-b, 2-c, 3-d, 4-a


(d) 1-a, 2-,a 3-b, 4-b

Q.72 Which one is incorrect :


(1) PGP encrypts data by using Block Cipher called IDEA.


(2) IDEA is similar to Triple DES.


(3) PGP uses 128-bit keys.


(4) PGP uses a Private key and Public key to encrypt message.


(a) 1-f, 2-f, 3-f, 4-t 


(b) 1-t, 2-t, 3-f, 4-t


(c) 1-t, 2-f, 3-t, 4-t


(d) 1-t, 2-f, 3-t, 4-f

Q.73 Match the following :


(1)100 BASE-T
(a) Two pair Cat-3 



(2)100 BASE-TX
(b) Twisted Pair


(3)100 BASE-T4 
(c) Two pair Cat-5


(4)100 BASE-T2
(d) Four pair Cat-3


(5) 100 BASE-FX
(e) Optical fiber


(a) 1-e, 2-b, 3-a, 4-d, 5-c


(b) 1-a, 2-b, 3-e, 4-d, 5-c


(c) 1-b, 2-c, 3-d, 4-a, 5-e


(d) 1-a, 2-b, 3-d, 4-e, 5-c

Q.74 State whether True / False :


(1) HDLC frames can be transmitted over synchronous or asynchronous links.


(2) HDLC is developed by IBM.


(3) Supervisory frames are used to transport user data from network layer.


(4) U-frames are used for link management.

(a) 1-f, 2-t, 3-f, 4-t

(b) 1-f, 2-t, 3-t, 4-t

(c) 1-t, 2-f, 3-f, 4-f

(d) 1-t, 2-f, 3-f, 4-t

Q.75 Match the following :


(1) WiFi

(a) 802.15.1


(2) Bluetooth

(b) 802.16


(3) ZigBee

(c) 802.11


(4) WiMA

(d) 802.15.4


(a) 1-c, 2-a, 3-b, 4-d


(b) 1-c, 2-d, 3-a, 4-b


(c) 1-c, 2-a, 3-d, 4-b


(d) 1-b, 2-d, 3-a, 4-c

SOLUTIONS:

(1)a
(2)c
(3)a
(4)c
(5)b
(6)e
(7)b
(8)b
(9)a
(10)a


(11)c
(12)c
(13)c
(14)c
(15)c
(16)a
(17)d
(18)a
(19)d
(20)b


(21)c
(22)c
(23)c
(24)b
(25)b
(26)a
(27)a
(28)d
(29)b
(30)c


(31)a
(32)b
(33)b
(34)a
(35)a
(36)b
(37)a
(38)a
(39)c
(40)b


(41)c
(42)b
(43)c
(44)d
(45)d
(46)a
(47)b
(48)a
(49)a
(50)b


(51)a
(52)c
(53)b
(54)a
(55)b
(56)a
(57)b
(58)d
(59)a
(60)a


(61)a
(62)b
(63)a
(64)a
(65)c
(66)b
(67)b
(68)d
(69)c
(70)b


(71)a
(72)d
(73)c
(74)d
(75)c
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